Kave’ o
Home Trixie




.

O O X X
%% %f g

NI

@% 7o

p

@“m ﬁ

2 AA6752



20 min

@@

// / /
=l :
T | |
// L—
zﬁfﬁzzz
// — \ \
\ — | 6fgzgf \ \
| T
T
L=
- < L= =
1 x 2pcs 2x1pc 3 x1pc 4 x 1pc

Ax8 Bx2 Cx2 Dx2 Ex4 Gx2 Ix1
mm (- == {mm & ’ \\J
M6x10  M4x40 M5x10  @13xM6 25x7x2.0

AA6752 3



—

AA6752



///ﬂ\ 2
I ‘\_N“ >

< L.
@ \J>
/‘1

|

w—p
Ax8 Ex4 Hx4 Ix1
mm & — —

M6 x 10 13 xM6 | 25x7x2.0

AAG752




Dx2

M5 x 10

Fx4
>

AAG752




AAG752



JULIA GRUP Furniture Solutions S.L.
B-17616277
Pol. Ind. Bosc d’en Cuca
C / Tallers, 14
17410 Sils SPAIN
contact@kavehome.com



	a
	b
	c
	d
	e
	f
	7.pdf
	1
	2
	3
	4
	5
	6
	22
	1
	2
	3
	4
	5
	6
	9590.pdf
	组合 2
	1
	2
	3
	4
	5
	6
	9

	9
	10
	11
	12



	8.pdf
	1
	2
	3
	4
	5
	6
	22
	1
	2
	3
	4
	5
	6
	9590.pdf
	组合 2
	1
	2
	3
	4
	5
	6
	9

	9
	10
	11
	12






